SP-I/ECOG/CC-IA/GE-1/24

B.A./B.Sc. 1st Semester (General) Examination, 2023 (CBCS)
Subject : Economics
Course : CC-1A/GE-1
(Microeconomics)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions: 2x10=20
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(a) What does a negative cross price elasticity of demand between two commodities indicate

about their relationship?
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(b) What is Quasi rent?
o el e
(c) What is the law of equi-marginal utility?
Telfe Somfen fa e
(d) What is indifference curve?
s @ e
(e) What is opportunity cost?
At IJW M2
() Distinguish between short run and long run in production.
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(g) What is duopoly?
veoifer e
(h) What is the difference between risk and uncertainty?
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(1) What will be the value of marginal revenue if demand is unitarily elastic?
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() What do you mean by constant returns to scale?
AR MIR@e eifent IeT0s B @
(k) Mention two important features of monopolistically competitive market.
GIHHA AfSEierE raEs 76 wres) @Y e
(1) Is there any fixed cost component in marginal cost?
2% T W @ fBF e Toet A e
(m) What is meant by Pareto optimality?
Pareto optimality J#0e < QIR ?
(n) What is liquidity trap?
I FW e
(0) Distinguish between money wage and real wage.
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2. Answer any four of the following questions: 5x4=2
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(a) Why is short run average cost curve ‘U shaped’?
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(b) How do modern theorists explain the relationship between economic rent and the elasticity
of supply of an input?
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(c) Distinguish between the concept of returns to scale and returns to a factor in production.
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(d) Mention the limitations of the marginal productivity theory of distribution.
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(e) What is price discrimination? When is it possible? 243
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(f) Briefly explain the important features of a perfectly competitive market.
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3. Answer any two of the following questions: 10x2=20
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(a) Discuss the liquidity preference theory of Keynes.
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(b) Briefly explain how the short-run supply curve of a perfectly competitive firm is derived.

In this context explain the concepts of the break-even point and shut-down point.
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(c) What is the price effect? Show that price effect is the sum of income effect and substitution
effect.

W 2SR I A2 (A8 (@ AN 2SR 2F WH-ASR GR ARIS el AHRie |
(d) Show that long run average cost curve is the envelope of short run average cost curves.
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